DISCUSSION 5
In the following multiple-choice questions, please indicate the correct answer.

1.
In testing the hypotheses 
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the following information is known: n = 64, 
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= 53.5, and 
[image: image4.wmf]s

 = 10. The standardized test statistic equals:

a. 1.96

b. –2.8

c. 2.8
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d. –1.96

2.
If a hypothesis is not rejected at the 0.10 level of significance, it:

a. must be rejected at the 0.05 level

b. may be rejected at the 0.05 level

c. will not be rejected at the 0.05 level

d. must be rejected at the 0.025 level

3.
In testing the hypothesis
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if the value of the test statistic equals –2.42, then the p-value is:

a. 0.5078

b. 2.420

c. 0.9922

d. 0.0078

4.
Which of the following p-values will lead us to reject the null hypothesis if the level of significance equals 0.05?

a. 0.15

b. 0.10

c. 0.5

d. 0.025

5.
A professor of statistics refutes the claim that the average student spends 3 hours studying for the midterm exam.  Which hypothesis is used to test the claim?

a. 
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c. 
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d. 
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6.
Suppose that we reject a null hypothesis at the 0.05 level of significance.  Then for which of the following 
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-values do we also reject the null hypothesis?

a. 0.06

b. 0.04

c. 0.03

d. 0.02

7.
In a two-tail test for the population mean, the null hypothesis will be rejected at 
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 level of significance if the value of the standardized test statistic z is such that:

a. z > z
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b. z < -z
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c. -z
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< z < z
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d. |z| > z
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8.
Statisticians can translate p-values into several descriptive terms. Which of the

  following statements is correct?

a. If p-value < 0.01, there is overwhelming evidence to infer that the alternative hypothesis is true

b. If 0.01 < p-value < 0.05, there is strong evidence to infer that the alternative hypothesis is true

c. If  0.05 < p-value < 0.10, there is weak evidence to infer that the alternative hypothesis is true

d. All of the above statements are correct

9.
In a given hypothesis test, the null hypothesis can be rejected at the .10 and .05 level of significance, but cannot be rejected at the .01 level.  The most accurate statement about the p-value for this test is:

a. p-value = 0.01

b. p-value = 0.10

c. 0.01 < p-value  < 0.05

d. 0.05 < p-value < 0.10

10.
The rejection region for testing 
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at the 0.05 level of significance is:

a. |z| < 0.95

b. |z| > 1.96

c. z > 1.65

d. z < 2.33

11.
The rejection region for testing
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at the 0.10 level of significance is:

a. z > 1.96

b. z < 0.90

c. z > -1.65

d. z < -1.28

12.
The p-value criterion for hypothesis testing is to reject the null hypothesis if:

a. p-value = 
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b. p-value < 
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c. p-value >
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d. -
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 < p-value <
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13.
The Student t distribution approaches the normal distribution as the:

a. degrees of freedom increase

b. degrees of freedom decrease

c. sample size decreases

d. population size increases

14.
For each of the following pairs of null and alternative hypotheses, determine whether or not the pair would be appropriate for testing a hypothesis.

a. 
[image: image35.wmf]25

:

0

=

m

H


      
[image: image36.wmf]25

:

1

<

m

H


b. 
[image: image37.wmf]30

:

0

=

m

H


      
[image: image38.wmf]30

:

1

>

m

H


c. 
[image: image39.wmf]:

0

H



 EMBED Equation.3  [image: image40.wmf]35

=

x


      
[image: image41.wmf]35

:

1

>

x

H



 EMBED Equation.3  [image: image42.wmf]

 EMBED Equation.3  [image: image43.wmf]
d. 
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e. 
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15.
For each of the following statements, formulate appropriate null and alternative hypotheses and indicate whether the appropriate test will be one-tail or two-tail.

a. The average TOEFL score for international students is well above 575.

b. The average American adult drinks less than 3 cups of coffee per day

c. The average housewife works more than 40 hours per week in house related activities.

d. The average employee calls in sick is different from 3 times a year.
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